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Sử dụng quy tắc nhân để xác định phần dư còn thiếu cho mỗi bài toán.

1) 36:5 = 7 dư     1      2) 6.745:2 = 3.372 dư     1      

3) 9.604:2 = 4.802 dư     0      4) 89:10 = 8 dư     9      

5) 40:2 = 20 dư     0      6) 77:5 = 15 dư     2      

7) 73:10 = 7 dư     3      8) 9.911:10 = 991 dư     1      

9) 593:2 = 296 dư     1      10) 582:2 = 291 dư     0      

11) 44:10 = 4 dư     4      12) 6.216:10 = 621 dư     6      

13) 8.623:5 = 1.724 dư     3      14) 31:5 = 6 dư     1      

15) 867:10 = 86 dư     7      16) 393:2 = 196 dư     1      

17) 40:10 = 4 dư     0      18) 56:2 = 28 dư     0      

19) 31:5 = 6 dư     1      20) 146:5 = 29 dư     1      
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